EFFORT DE SERRAGE

&¥ Solidworks 99 - [Pince partker.SLDASM] _|ﬁl 1'
@ Fichier Edition  Affichage  |nserion FEM  Meca3D Outls Fenétre 7 _|ﬁl il

|DEE8R 58 - IREY €2 |
ernaeae i(vs @A+ e 3RO

— @ Mécanisme 1=
%5 E@ Pigces j ’E
L & Cops<2s H#
-3 Biellette<>
° @ Piston<2y v
% -8 Doigh<1> P
%3 @ Doigh2<1s 7
e . Biellette< 2> &
B3 Liaisons
QS - Pivot glissant] [ Corpe<2: | Piston<2> |
5 =1 Fivot? [ Comps<2s |, Daigtl <13
| /=1 Pivotd [ Corps<2: | Doigt2e1: )
— =1 Pivotd [ Biellette<1s | Piston<2s |
& = Pivot glizzant5 [ Biellette<1> | Doigtl<1> ]
ﬁ = Pivot gliszsantt [ Piston<2» | Bielette<2s |
@ ~I=1 Piwot? [ Doigt2<1> | Biellsttec?y |
D& Effats (1T 17
& ~fB Fs[Doigtl<1> . Doigt2<1> |
e WA Frl [ Cops<2y |, Piston<2s ) O @
< ~$ff4 Fr2 [ Comps<2y | Pistan< 2> )
v [B Fp[Corps<2s , Pistone2s |
a 4
" .
o |
K |
L e s SO o /7 :
: O |
= |
~
L
48
&
2
“ E
| YEEE & 1 S
PN
430 2350 Fy(N)
323 1763
215 1175
108 58.8
Tamps(s)
00 mps(s) 00 Tamps(s)
0.0 0.3 0.5 0.8 1.0 0.0 03 05 08 10

Effort d’un ressort. Effort de serrage
pour une pression de 6 bar.




